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NEW QUESTION 1
Which two pieces of information are necessary to compute SNR? (Choose two.)

A. EIRP

B. noise floor

C. antenna gain
D. RSSI

E. transmit power

Answer: BD

NEW QUESTION 2

What is the structure of a JSON web token?

A. three parts separated by dots: header payload, and signature
B. header and payload

C. three parts separated by dots: version header and signature
D. payload and signature

Answer: A

NEW QUESTION 3
Refer to the exhibit.

Assuming that R is a CE router, which VRF is assigned to Gi0/0 on R1?

A. VRF VPN_B
B. Default VRF
C. Management VRF
D. VRF VPN_A

Answer: D

NEW QUESTION 4
When configuration WPA2 Enterprise on a WLAN, which additional security component configuration is required?

A. NTP server
B. PKI server
C. RADIUS server
D. TACACS server

Answer: C

NEW QUESTION 5
Which protocol does REST API rely on to secure the communication channel?

A.TCP

B. HTTPS
C. SSH
D. HTTP

Answer: B

NEW QUESTION 6

On which protocol or technology is the fabric data plane based in Cisco SD-Access fabric?
A. LISP

B. IS-IS

C. Cisco TrustSec

D. VXLAN

Answer: D
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NEW QUESTION 7
Which statement explains why Type 1 hypervisor is considered more efficient than Type 2 hypervisor?

A. Type 1 hypervisor runs directly on the physical hardware of the host machine without relying on the underlying OS.

B. Type 1 hypervisor enables other operating systems to run on it.

C. Type 1 hypervisor relics on the existing OS of the host machine to access CPU, memory, storage, andnetwork resources.

D. Type 1 hypervisor is the only type of hypervisor that supports hardware acceleration techniques.

Answer: A

NEW QUESTION 8
Drag and drop the characteristics from the left onto the correct infrastructure deployment types on the right.

l | IOn Premises
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|

A. Mastered
B. Not Mastered

Answer: A

Explanation:

On premise: customizable,specific requirements,resources Cloud: scale, built-in automated backup, strong stable internet

NEW QUESTION 9
What the role of a fusion in an SD-Access solution?

A. provides connectivity to external networks

B. acts as a DNS server

C. performs route leaking between user-defined virtual networks and shared services
D. provides additional forwarding capacity to the fabric

Answer: C

NEW QUESTION 10

What is a benefit of data modeling languages like YANG?

A. They enable programmers to change or write their own application within the device operating system.
B. They create more secure and efficient SNMP OIDs.

C. They make the CLI simpler and more efficient.

D. They provide a standardized data structure, which results in configuration scalability and consistency.
Answer: D

NEW QUESTION 10

A local router shows an EBGP neighbor in the Active state. Which statement is true about the local router?
A. The local router has active prefix in the forwarding table from the neighboring router

B. The local router has BGP passive mode configured for the neighboring router

C. The local router is attempting to open a TCP session with the neighboring router.

D. The local router is receiving prefixes from the neighboring router and adding them in RIB-IN

Answer: C

NEW QUESTION 12
Refer to the exhibit.
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Link1 is a copper connection and Link2 is a fiber connection. The fiber port must be the primary port for all forwarding. The output of the show spanning-tree
command on SW2 shows that the fiber port is blocked by spanning tree. An engineer enters the spanning- tree port-priority 32 command on GO/1 on SW2, but the

port remains blocked. Which command should be entered on the ports that are connected to Link2 to resolve the issue?

A. Enter spanning-tree port-priority 32 on SW1.
B. Enter spanning-tree port-priority 224 on SW1.
C. Enter spanning-tree port-priority 4 on SW2.
D. Enter spanning-tree port-priority 64 on SW2.

Answer: A

NEW QUESTION 14

Which First Hop Redundancy Protocol maximizes uplink utilization and minimizes the amount of configuration that is necessary?

A. GLBP
B. HSRP v2
C. VRRP
D. HSRP v1

Answer: A

NEW QUESTION 18

A customer has several small branches and wants to deploy a WI-FI solution with local management using CAPWAP. Which deployment model meets this

requirement?

A. Autonomous

B. Mobility Express

C. SD-Access wireless
D. Local mode

Answer: B

NEW QUESTION 22
Based on this interface configuration, what is the expected state of OSPF adjacency?
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A. Full on both routers
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B. not established
C. 2WAY/DROTHER on both routers
D. FULL/BDR on R1 and FULL/BDR on R2

Answer: B

NEW QUESTION 25
Which action is the vSmart controller responsible for in an SD-WAN deployment?

A. onboard vEdge nodes into the SD-WAN fabric

B. distribute security information for tunnel establishment between vEdge routers

C. manage, maintain, and gather configuration and status for nodes within the SD-WAN fabric
D. gather telemetry data from vEdge routers

Answer: B

NEW QUESTION 30
Which QoS component alters a packet to change the way that traffic is treated in the network?

A. Marking
B. Classification
C. Shaping
D. Policing

Answer: A

NEW QUESTION 34
Which description of an SD-Access wireless network infrastructure deployment is true?

A. The access point is part of the fabric underlay.
B. The WLC is part of the fabric underaly.

C. The access point is part the fabirc overlay.

D. The wireless client is part of the fabirc overlay.

Answer: C

NEW QUESTION 35
Which NGFW mode block flows crossing the firewall?

A. Passive
B. Tap

C. Inline tap
D. Inline

Answer: C

NEW QUESTION 40
What are two benefits of virtualizing the server with the use of VMs in data center environment? (Choose two.)

A. Increased security

B. reduced rack space, power, and cooling requirements
C. reduced IP and MAC address requirements

D. speedy deployment

E. smaller Layer 2 domain

Answer: BD

NEW QUESTION 45
In which part of the HTTP message is the content type specified?

A. HTTP method
B. URI

C. header

D. body

Answer: D

NEW QUESTION 47

Which feature does Cisco TrustSec use to provide scalable, secure communication throughout a network?
A. security group tag ACL assigned to each port on a switch

B. security group tag number assigned to each port on a network

C. security group tag number assigned to each user on a switch
D. security group tag ACL assigned to each router on a network
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Answer: B

NEW QUESTION 50
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